i

HCF 28 3 3% ST LCM 336 ¥ | 49. The HCF of two numbers is 28 and their LCM
g W gEd e 0 ~ is 336. Ifone pumber is 112, then the other
number s :
(1) 84
0 2 @ 92
34
B (3) 34
'.II. E).Ii
i (5) = Not Attempted
e R O S I i
:rr@-ﬁ?ﬁam%‘ zfe 384 2 1,600 fewdr = | S0. i’x}:ur&buys a pair of skates at a sale where
N < 7 S = 7 3 e 1lscount given is 20%. If the amount he
CEH it T o TRl e paysis ¥ 1,600, then which of the following is
41 the marked price of the pair of skates ?
y 1,920 (1) %1,920
g 12,000 (2) 2,000
g 71,280 (3) ¥1,280
Rk @ 1,600
i R T < e | (5) Not Attempted
T i o R |
Wﬁ A, B.ﬂi 2'0 /o T8 A S €1 AR A 51. A does 20% less work than B in the same
LEEE ?Uiﬁﬁ@ﬁm%,@Baﬁm time. If A can complete a piece of work in
31 e T R T 714 hours, then B can do it in :
Il pHe (1) 6hours
g (2) 6% hours
) ok (3) 5 hours
N 5wy .
(4) 5% hours
W 5w
(5) Not Attempted
| 52. On selling 17 balls for T 720, there is a loss
"'ﬁ"l-f'r? e o 52 % # el F equal to the cost price of 5 balls. The cost
T 2y s 3 e price of one ball is :
TR 3 3| e e o R A
I ¢ (1) 55
A
f'n 260 (2) 360
Y 245 @ %45
" %50 @ 50
(5) Not Attempted
IS
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FOfx iy

£ and of
t of both
then the
¥ of rice

ides the
greatest

~Fage

_: .j: |11_]r_‘1'-

ot the antonym of frequent’.

P feal

1 glart®

rart

return

: Mot attempted

e e alternative which best expresses

i !',:!pcni‘rgu gentence 10 Passive VoICe.

f,lfagcoumant took the cheque from the

rl«-jstc-mEf-

" The customer Was taken the cheque by
the gccountant.

g The cheque had been talken from the

" ustomer by the accountant.

g The cheque is taken from the customer
by the accountant.

§ The cheque Was taken from the
customer by the accountant.

5} Not Attempted

1 Change the following sentence into indirect
speech,

Shakti said to his friend,
ﬂl_anake behind you”.

§ Seeing a snake behind him; Shakti
. asked his friend to look out.
[ Shakti warned his friend that there Wwas
< a snake behind him.
) Shaki told his friend to look out as
there is a snake behind himm.
Shakti exclaimed to his friend with
surprise that there could be & snake
behind him.

Not Attempted

«1 ook out! There is

||4|

[5)

v
fill in the plank with suitable

S alternative.
”,‘1 “’11};01: overtake him unless you —
W Play
il reading
; l Slecp

4
U walk quickly

62.

63.

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

a white e]ep@t ;

(Iy wvery comfortable
(2) collapsing

(3) wvery large

(4) useless

(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.

To travel E_E]gefully is a better thing than to

arrive, and the true success is to labour.

(1) negligence
(24 carelessly

(3) rationally

(4) positively

(5) Not Attempted

In the following question, the first and the last
part of the sentence are numbered S; & Se.
The rest of the sentence is split into four parts
and named P, Q,Rand g. These four parts aré
jumbled. Re-arrange them in correct order.
Sy - Even today in meny countries

p - neglected and there are far

Q - women continue to be

R - who have had the benefit of

g . fewer women tharn men

S - education and vocation training

(1) RQPS
) SQRP
(3 PQRS
4) QPSR
(5) Not Attempted

Choose the correct alternative to improve the
undetlined part of the following sentence. Ifno
jmprovement is required, your answer is (2}.

Pasgengers are requested not to sit on the floor.

(¥ requested to 8it
(2) No Improvement
(3) tonot sit

(4) tonotto git

(5) Not Attempted

b T :
wﬁttempted
g =t Tl SPAGE FOR ROUGH WORK
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47.

45. Two numbers are in the ratip 2 .

s e 25 ﬁr.' 2 < 3 -
| A wa: S%m'aajmﬁﬁhﬁ'l Hﬁgﬂﬂﬁ‘ﬂ 1 sum is 125, then the numbers are : If thei;
& g 8 (1) 50,75
(I 50,75 {2) 24,36
(2) 24,36 3) 20,30
(3) 20,30 4) 32,7
(4) 32,78 ) i
6 SR o =R | (5) Not Attempted
A T91 B 3 %A% T 22,500 HﬂT??S,OUD :"la.‘% +, | 46. A and B started a business by iﬂ‘fESting
WWW‘%WI F 2?,600 mwa‘r&{ﬂ B g 22,500 Iand ¥ 35,000 I"E!Spcctively_ Oth Uf.a
g total profit of ¥ 27,600, B’s share is :

1) 16,800 (1) T 16,800
(2) ¥19,200 (2) ¥19,200
(3) 10,800 (3) 10,800
@ %14,400 4) T 14,400
(5) S TRl < Wed | (5)  NotAttempted
zﬁéﬁi W i L n"l’f T e }-i IR | 47, If the length of the diagonal and the area of a
25 WX 41T 168 <, Tl ST i o g rectangle are 25 m and 168 m? respectively,
e then the longer side of the rectangle is :
(14 24 #. (1) 24 m
"(2) 814 (8] 8lm
(3) 124 (3) 12m
(4) 17 . (4) 17m
(5) ST F = (5)  Not Attempted
48, £ vl 2 .
‘Tﬁy_é_%,;ﬁx Ty = 9 BAm 48, Ifi-—-l,thenthevalueaf__-—-x +y2 is -
P yz Yy 3 Xy
e
T —— L
(1) 7 i -5
- 4
2 — .
(2) 5 £ i
50 3
e
@) - 10
S 9
(44 ;
(5) TR 2
o (4)
W 4 |
T Href 5 - (5) Not Attempted 1
e
¥ SPACE FOR ROUGH WORK iy

4
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51,

52,



53.

54,

[, 25 X % % HE B
e e e

i \,'] 144 12

(1§ 13

(2) 17

3 1

4 3

(5) R Tl &1 = |

TR - 1 % =60 1 94 % 15 Wi Thaiium & Ses
YR - 11 % =6 1 9o T 20 °fd fohamms g1 3fe
S1 YR o H1Ewi o1 2 : 3 H e w3 e, o fasgo
Wgﬁiﬁﬁﬂmﬂﬂ%:

(1) ¥18.50
[2) T19.50
(3 T18

4 19

35T T o T s 4.5t :
ﬁfﬁ“*ﬁﬁwwma@mg: i

53.

54.

|'___2_
T+ 22 it ol

144 2’ then the valye Of xjg

(1) 13
@ 17
(3) 1
4 5

(5)  Not Attempted

The cost of type - I rice is ¥ 15 per kg and of
type - II rice is ¥ 20 per kg. If rice of both
types are mixed in the ratio 2 : 3, then the
cost price per kg of the mixed variety of rice
is :

(1) ¥18.50
(2) <19.50
(3 %18
4 19

(5) Not Attempted

The greatest number which divides the
greatest 3-digit number and the greatest

4-digit number, exactly is :

(1) 8
2 9
@) 3
4 7

(5) Not Attempted

page 1!
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60,



65. Pick out the part of the sentence which h

67.

68,

VNATH / F1 :
£

as an
error. If there is no error, your answer is {2).
This is the third communication I have sent /

(A)

and I amﬁlﬂgm"priseﬂ /
(B)

g iEG NinBNOANSWer,
(C)

(1 (©

(3) No error

@ (A

(4)  (B)

(5) NotAttempted

et T H e S e 6l WellfHe S e
&

(14  STFHL k1 &1 331

(o) i S H wY °E

(3)  AfereiEss S=1f el

(4) S1EYE R H HEE FT

(5) T el o | |

(1) s=FRHAEEARE

(2) ¥l H JEE B T

(3) W SR Sfre o ey ¥

(4 T WA R

(5) = T = =y

T A % i e ;

TH T Wﬁmmﬁﬁm

(1) i

(3 Tinm

(3) iyfe

(4)  TirERY

6) T

(2) T
(38) =
(4 cEE
(5) ST S ey

70.

T1.

T2.

73.

4.

75.

‘E@ﬁd}aw i A
L
(1) emog
@ omf
(@ =
() e

(5) SR T = = R |

(1) f&

(2 e

(3 FHuTE

(4) =EsilE

(5) TR = =

‘ﬁHW'%mﬁWWWﬁWMﬁW
%_ b §

(1) fwmm

(2) TR

(33 Femem

(4) Trzmm

(5) TSl o = |
(1) &

(2 U=

(3) g

(H  SsiEd

(5) SR S = |
‘reRifed T A 2 e A ! A SR
@ﬁm%

(1) T STEIhTL

(2)  HTEEF SRR F
(3)  SUH AARR H

(4  SATITH iR F

(5) SR el & e |
FT-91 S =AY T e E 2
(19 feEl ofv g

(2) TY DA TR = 2|
(3) I Su TR ad # Bl
(4)  SEA ST T Y A

77

78.

79,

iy,

= (5) = AE o = |
iTe To151/ SPAGE FOR ROUGH WORK Page 16V
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(3)
(4)
()

(1)
(2)
(3
(4)

()

(1)
(2)
(3)
(%
(5)

Lk
(19
(2)
(3)
(4

(§)
M
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7t 2022-23 TG, i T o TR R
| @qﬁmmmmﬁmﬁﬁﬁmw%?
1 B3%

2 5.8%

3 14.2%

H 6.2%

B SR < e |

| e e e € 7
i 923

W 24

Ho21

o2

3T T A e |

Ll--L - " c
%ﬁwmﬁmﬂaﬁmaﬁ%ﬁmwﬁm?ﬁ
¥ R - 22

IH

TT.

T8,

Faarel | SPACE FOR ROUGH WORK

Neemrana comes under which State ?
(1) Punjab

(2) Uttarakhand

{3) Rajasthan

79.

80.

(4) Haryana
(5) NotAttempted

Which one of the following is not amongst the

major cotton growing districts of Haryana 2
(1) Ambala

(2) Rewari

(3) Sirsa

(4) Sonipat

(5) Not Attempted

For the financial year 2022-23, what is the
percentage of the total expenditure allocated
towards Health in the Haryana State ?

(1] 8.5%
(2) 5.8%
(3] 14.2%
4) 6.2%

(5) Not Attempted |

How many districts ate there in Haryana ?

(23
@2) 24
@ 21
(A

(5) Not Attempted

To promote the ancient Heritage of Pinjote,
two festivals arc held every year. One is the
pinjore Heritage festival’; which is the second

one ?

(1) Mango festival
(2) Lemon festival
(3) Orange festival
{4) Dates festival

(5) DNot Attempted




ang 9

aﬁﬁﬁﬂﬂﬁﬁﬂl:
A
r with Hrﬁ%l
Delhi. fire B |

s/are Wﬁﬁmm{ﬁﬂqﬂﬁ%fﬁj
(1) (A) 3R (B) &

g A A) AT (B)

3) ¥ (A)

4 % (B)

5) I E o = |

3 3 o T €

ear 1°

=

1) (&) sl @) 2
2 A (a) RS B)
B (a)

@ =g ®)

= ) e e
2ag®€ ‘JHATH ) = Toe 2 /SPACE FOR ROUGH WORK

TH

o T R SR (ﬁf@@ﬁr}%aﬁﬁﬁﬂ’fﬁ@a
g&mmﬁ@?ﬁﬁﬁm%ﬁﬁﬁ@éfrﬁﬁ

Bl ﬁmﬂﬁ@@ﬁﬁgﬁmﬁﬁﬂm‘eﬁﬁﬂ

E m?ﬂn@(ﬁmﬁ)%ﬁﬁduﬁﬁmﬁf@ﬂﬁ

moﬂﬁ
e ) < ST T

95.

960

Who was the author of epic Mahabharata' ?
(1) Maharishi Valmiki
(2) Maharishi Vedvyasa
@) Magh

(4) Kalidas

(5) Not Attempted

Who amongst the following did not play for
Haryana in Ranji Trophy ?

(1) Rajinder Goel

(2) Sarkar Talwar

(3) Maninder Singh

(4) Kapil Dev

(5) Not Attempted

Consider the following statermnents about Gross

State Domestic product (GSDP)

(A) GSDP of Haryana ;s more than that of
Bihar.

(B) GSDP of Punjab is more than that of
Haryand.

Which of the above statements is/are

correct ?

(1) Both (A) and (B)

(2) Neither (A) nor (B)

(3)  (A)only

(4) (B)only

(5) Not Attempted

Consider the following statements in respect

of National Security Guards (NSG) :

(A) Operational Headguarter of NSG is In
Manesar.

B) NSG comes under the control of Union
Ministry of Home Affairs.

Which of the aboVve statements isfare

correct ?

(1) Both (A) and (B)

(2) Neither (A) nor (B)

(3 (A)only

(4) (B) only

(5) Not Attempted
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. 5 ~ & Faar | 81 Which of the following dance formg ' .
g81. TEfarEs § g b TN ST RA-H T et is associated with Mewati tribe o Df}al}'ag.k. 55 . 1]
ST TG 6 7 - i
(1) Phag 12
Sl (2)  Gugea Bq
@ I (3) Dhamal ::
3 {2
(3) HHI (4) Ratvai a
(4) e {(5) Not Attempted v
(5) ST & | 5
82. How many Rajya Sabha seats does Haryg:
: o Ao _nons g have 2 i af
g2, EftEm T H T |1 o fahat Hid €2 86.
(1) 6 kLl
(1) b i
@ 5 2 & {
(2
3] 8 (3) 8 .
(2
i (4100 )
|
(5) SECET o e | (5] Not Attempted :
' ' {
el A IC e oty W *1 | 83, Mukhya Mantri Pragatisheel Samman Yojan i
Y-S o Y S o wg Wil eI s A is to motivate the progressive farmers fi {2
o AT & 7 4 adopting best agriculture practices in hw
many categories of land holding ? (E
(L) 3
2t 1) 4
2 s (1) “
@ 2 (2) 5 !
W s By 2 ;
(5) S T e = | )3 ¢
(3) Not Attempted ¢
84, A o fet o frem 2 .
(¥ Fre 84. In which district is Narnaul situated ? &
2 e (1) Mahendragarh (
B e (2] Rohtak {
1 (
s {4) Kaithal
T R | s

il
% %1 & 0 22171 | SPACE FOR ROUGH WORK page




Fyang

{ojana
rs for
n how

2ad® i

-ﬁﬂﬁfﬂ?f‘aﬂﬂﬁfm:

Al fifd ; 85. Consi ;
(Al @Wﬁﬁ IRgARRS R L T '[;}n&?\]er;he following statements :
4] ada Sahi s
Bl e TR T Tl H W E Ambal-f ib Gurudwara is situated in
o /8 3 B) N :
Sﬂqﬂﬁﬁﬁq / _W |t /e ? ®) ?ﬁ?ii&hﬂf’ Gurudwara is situated on
[]"] M!! 3:“‘1'1’ [«B) a:ﬁ Which of thco ZVET (Jhaggarl
(2) 371 (A) st AE (B) correct ? above statements is/are
@) a (A) (1) Both (A) and (B)
g FEB) () Neither (A) nor (B)
| (3) (A)only
e e B e
(5) ' (4)  (B)only
5 g (5) Not Attempted
% = %_ Wiﬁllﬂﬁwﬂ?%mmﬁ
ﬂﬁmm ? 26 Booiali
- jali, an ornament i ke
(1) # 1 by oren i;;\:;};;::;whmh part of
o T (1) Foot
(2) Nose
el @) Ears
(4 HE (4) Forehead
(5) ey el & = | (5) Not Attempted
g7, et o - : Y
WQT“h ¢ Foem S | 87. Consider the following statements :
() e H gfer STEHRICH fem el (A) Rohtak has a Police Commissionerate
B e 7 ﬁaﬁ%| " located there.
S ! Sonipat has a Police € nissi
i A -/ T W g/E located there. S e
(L (A it (B) el z\:’l:li-:ht ;)f the above statementél is/are
) (A FRAD Y
(B) (1) Both(A
yand (B)
3
L%}l E (&) (2)  Neither (4) nor (B)
(B (@) (A)only
(5) T ARl & = | (4) (B) only
(5) Not Attempted
B
et et A
(1) b, L Tﬂﬁ'ﬁaﬁﬂﬁ'ﬂﬁﬂﬂ%? | g88. 1In which district is the Indian Mational
RREE I Defence University located ?
& T (1) Faridabad
@) = (2) Karnal
oL
(4 (3) panchkula
= E 4) Gurugram
"“Ar::: TR A 31 = | (5) Not Attemnpted
il mmﬁﬁfmmfspncs FOR ROUGH WORK Page 19




Wmﬁﬁwﬁmmﬁmmm
T E?
(ff =R
(24 EET
(B EREE
(4) SeHaH
(5) S el &A1 =ed |
90. ‘iz’ =iy ftamon § R 76 WE?
(1) =Rt
(2) TR
(3) A
(4 Hifesn

(5) ST T8l oAl =red |

91. f=fafEs FuHl X fa=R Sifsu .
(A) WA SR HS) 1 G fEeet & 9 ST
gl
(B) e =i G fEeelt § 7 e 2
STYF T H HH-H1/Y For W /8 ?

(¥ (A) 3R (B) BT

(2) AT (A) FRAE(B)

(3) = (a)

(@) % (B)

(5) I T & = |
92 T % o W # v e 49w s

H Fe & 2

(1) TR

@

(3) wn

4)  fomen

12} SRR S ey
VNATHIF1

89.

90.

1 91.

92.

In the Mahabharata period, whig

used for Haryana ? h tem, . ’

(1) Hariyala |
(2) Haryanak

(3) Haribanak

(4) Bahudhanyakya

(5) Not Attempted

‘Ottu’ barrage is on which river in Ha"!r'ana
(I) Tangri

(2) Ghaggar

(3) Yamuna

(4) Sahiba

(5] Not Attempted

Consider the following statements ;

(A}  Sonipat and Jhajjar share border yi
Delhi. :

(B)] Rohtak does not share border with Deli

Which of the above statements is/an
correct ?

(1)  Both (A) and (B)
(2)  Neither (A) nor (B)
(3)  (A) only

(4)  (B)only

(5) Not Attempted

In which month of the year, the fam?
Surajkund mela is held every year'
Haryana ?

(1) October
(2) February
(3) March

(4) December
(5)  Not Attempted

IE
@1l % 90 %27/ SPACE FOR ROUGH WORK

page 2

95.

96,



—=
page

o ARl

e =0 S T S T w

5 <t et 5 o e A a2

25.

7,

28,

IUIMATH | F1

(" SDW

3) e
(4 vamEEfrE
6) o =gt 2 A

24,

25.

26.

27.

28.

A boy is standing at & distance of 50 cm from
the plane mirror. What will be the distance
between the mirror and the image ?

(1) S50cm

(2) 75cm
(3) 100cm
(4) 25cm

(5) Not Attempted

In the year 2016, the Guvemmentuﬂndié has
initiated a mission calleds =5 = under
which a proper Sewage disposal have been
started.

(1) Swachh Bharat

(2) Namami Gange

(3) Uljwala

(4 Udaan

(5] Not Attempted

No medium 1s required for transfer of heat by
the process D =

(1) Convection
(2) Transpiration
{(3) Radiation

(4) Conduction

(5} Dot Attempted

and

diseases.

(1) Seuarvy and Cholera
(2) Polio and Rickets
(3) Typhoid and Meningitis
(4) Beri-Beri and Dysentery
(5) NotAttempted

_ are water borne

Earthworms breathe through their

(1} Gills ——=
(2) Skin
(3) Lungs

(4) Tracheae
(5] Not Attempted

TR /SPACE FOR ROUGH WORK
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16. FrmfeEd H 8 - W T S
(§E] et
(2) T RN

(3 T
4 TR

(5) SO S A |

1. o P R S S U WS AR 5,
Wﬁ%ﬁﬂqﬁmmﬁmm% ST %

i el Te WAl g Wi Feed €

(1) wEE

() TR
(3) S

(@ S

(5) 3Tl e e |

18, ﬁqﬁf@aﬁﬁﬁﬁxﬁwﬁﬁfﬂ@ﬁmﬂ@f%?
() e i R g SR AR AR
e i 35 A g A f AT
e BRI A el
(3) HEHE (Feer) it A
@) i SarEa
(5 syt e |

19, fretffiga 1 gHfaE

o (am

W R @
B wwd ) Sk
) i pojeEs

D) ot = )

0 e @
@) (A, @)-0 (©)-0V): IDH13
©  (aym, (B, O O
4 (-, (B)-00, ©)-0 (B):

17. 1If a person’s kidney stops working.

16. Which of the following is mot & terrestrial
habitat ?

(1) Rainforest
(2) Grassland
(3) Pond
© (4) Desert
(5) Not Attempted

They
cannot survive unless their b]cod_ ig filtered
by artificial kidney. This process 15 called :

(1) Transpiration
(2) Elimination
(3) Excretion

(4) Dialysis

(5] Not Attempted

18. Which of the following is not the characteristic

of fish ?

(1) Long backbone with cylindrical body

{2) Head and tail smaller than the middle
portion of the body.

(3) Fresence of fins
{4) Presence of gills
(5) NotAttempted

19. Match the following :

(D (1X)
(A} Lamina (L) Weak stem
(B}, Petal (II)  Owvary
(C) Pistil

(LI} Leaf

(D] Creeper (IV}]  Flower

(1) 1A)-(v), (B)-(11), (C)-(111), (D)-(1)
{2)  (A)-(In), (B)-(11T), (C)-(1v (D)-(1)
3] (A)-(I), (B)-(1V ;

. V), (C)-(m), (D)~

(A)-(111), (B)-(11), (C)-(, (D)-(1v)

(5}  Not Attempteq

) o i 2y = |
"'NRTH ) = .a;ﬁ;g-;.mm SPACE FOR ROUGH WORK
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1. 2014 7 W g AR SRHTT ORI €
(1§ SR o ferprad el T S
AL e i |
(2) = = =l T8 el e ! .,
3] TR = e R ) Ese #i R

¥ ST, ST A Har Yo e |

(4) i ST o I ST SRt S |

IR Tfed e T sl o] Wi FH |
(5) wqﬁ%mm|

2. oo, T sfenmy - e vl 1 Hely IRA &

e T g
(b effem
(2) =

(3) U=
4) W

(5) I ! <A = |
3. CEdTdE:
(1) =T
. (2) FFeA
(3 =RE AE I
(4) =g ufieae
’ (5) S &l & AR |

4. ‘o’ frEfafea 5 § e i € Y wdee

T g S 2 2
(1) ST
(2) S

(3) W=

(4) g

(5) ST AEl o =

5. ‘sz’ yd 9rd & fHg TH A HAIE Sl € 7

‘Mission Indradhanush’ launched i the year
2014 1s:

(1)
(2)

(3)

(4)

(5)

To provide affordable and quality
healthcare to the rural population
To provide education to the depriveq
children.

To provide information, commoditieg
and service to meet the diverse need of
adolescents,

To cover children who have beey
partially or not vaccinated during
routine immunisation rounds,

Not Attempted

Appam, Puttu and Idivappam - food items,
belong to which State of India ?

(1)
(2)
(3)
()
()

Orissa

Kerala

Punjab
Gujarat

Not Attempted

‘CE’ refers to :

(1)
(2
(3)
(4)
(5)

Lugda’is a kin
that 18 wWorn

(1)
(2)
(3)
(4]
(5)

Common Era
Casual Erg

Coast of Egyvpt
Common Estimate
Not Attempted

Ind of which one of the following
In Chhattisgarh o
Ornament

Footwear

Saree

Dupatta

Not Attempted

‘Bihu' festival is celebrated in which Indijan
State ?

(1) SWHE (1)  Uttar Pradesh
(2p 3TH (2) ¢ Assam
3) o (3) = Karnataka
_ ; . : 5 {4) Punjab
L (SERIE 5 (5) NotAttempted
(5) S TR o A | Page 2
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a7, o R freites F wae gif 9 €, SH AR LT

ferery Haiftra & 7
(1) =¥
(2) WamH
(3) WY
4 =T

(5) ST TRl & =rEd |

38. 3 ot 7 F 25 9P A AR B, I 5@ HEE

e Hetam 21 2

(1] 4

2) 6

3) 3

@ s

(5) IAE =

39, ﬁﬂé%ﬁmam%maﬁm:

11,12, 16, 25, 41
(4 69
2) 72
8 65
4) 66

2
) —

) 3 2

0. Smw, g
i ¥

18l 'E’%ﬂg@h‘{aﬂt ar %aﬁw E-fl'{%r

= v
)
(2)
(3)
(4

(5) T

Q /| > W

C, D 791 E e 98

B
VNATH bl

TH

&

37.

38.

39,

40,

Kilometer is related to Distance j, the .,
way as Newton is related to : ety
(1) Force
(2) Momentum
(3) Acceleration
(4) Density
(5) Not Attempted
If 25th of August in a year is 'I‘hl,trscla_-,:l they
how many Tuesdays will be there in thy
month ? 9
(1) 4
2) 6
3) 3
4) 5
(5) Not Attempted
Find the next term of the series :
11,12, 16, 25, Sl B
(1) 69
(2) 72
(3) 65
4) 66
(5)  Not Attempted i

Five children A, B, €, D and E are standif !
& row, facing North but not necessarily if A
same order, ‘C’is to the right of ‘E'and t0 t':,
left of ‘A’. ‘A’ and ‘D’ have one child bet¥*”
them, Who is in the middle of the row ?

(1)
(2)
(8)
(4)

QO 8 > w

(5)  Not Attempted
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11. Forve AT feare AT S €

(1) 59w
(2) 7
(@ S5+
EJ R
(5) SR o = |
19, T N W TSR % B 8 R w6
e ¢
(1) T T
(2) SERE A EE
(3 i e

(4) TGN SEETHME 9oa
(5) L TEl o =ed |

13. gl & 9IRS e W

(W SHHSd
(2) =eEyg
3 #EE
(4) HAmEm
(5) SO el &1 = |
14. W =1 foh 3 T o1 28 7
(1) 1947
(2) 1951
(3) 1930
(4) 1950

(5) S o e |

15. ﬁﬂﬁi’r‘@aﬁﬁﬁ?—mﬁrﬁwnﬁmmm

11.

12.

13.

14.

i5.

is celebrated on :

World Environment Day
(1) 5th July

(2) 7% July

(3) 5™ June

(4) 7% June

(5) Not Attempted

Who served as free India’s first Governor-

General ?

(1) Maulana Azad

(2) Jawahar Lal Nehru

(3) C. Rajagopalachari

(4) Sardar Vallabhbhai Patel
(5) Not Attempted

The earth is surrounded by a layer of gases
called :

(1) Atmosphere
(2) Climate

(8] Ozone

(4) Environment
(5) NotAttempted

Which year did India attain freedom ?
(1) 1947

(2) 1951
(3) 1930
(4) 1950

(5) Not Attempted

Which one of the following refers t© the
programme introduced in all govem“"‘f'ﬂl

B4l TSI 93T o e 2 Al e . il
(1) =3 =, 5 gereh cooked lﬁch 5 s to provide childre
(2) HH e afiEm (1)  Beti Bachao, Beti Padhao
(3)  Tfeer g (2)  Sarv Shiksha Abhiyan
(4 = e (3) Mahila Samakhya
(5) ST & A (4) Mid-day meal
VNATH/F1 (5) Not Attempted
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11. Forve AT feare AT S €

(1) 59w
(2) 7
(3 5=
EJ R
(5) SR o = |
19, T N W TSR % B 8 R w6
e ¢
(1) T T
(2) SERE A EE
(3 i e

(4) TGN SEETHME 9oa
(5) L TEl o =ed |

13. gl & 9IRS e W

(W SHHSd
(2) =eEyg
3 #EE
(4) HAmEm
(5) SO el &1 = |
14. W =1 foh 3 T o1 28 7
(1) 1947
(2) 1951
(3) 1930
(4) 1950

(5) S o e |

15. ﬁﬂﬁi’r‘@aﬁﬁﬁ?—mﬁrﬁwnﬁmmm

11.

12.

13.

14.

i5.

is celebrated on :

World Environment Day
(1) 5th July

(2) 7% July

(3) 5™ June

(4 7% June

(5) Not Attempted

Who served as free India’s first Governor-

General ?

(1) Maulana Azad

(2) Jawahar Lal Nehru

(3) C. Rajagopalachari

(4) Sardar Vallabhbhai Patel
(5) Not Attempted

The earth is surrounded by a layer of gases
called :

(1) Atmosphere
(2) Climate

(8] Ozone

(4) Environment
(5) NotAttempted

Which year did India attain freedom ?
(1) 1947

(2) 1951
(3) 1930
(4) 1950

(5) Not Attempted

Which one of the following refers t© the
programme introduced in all govem“"‘f'ﬂl

B4l TSI 93T o e 2 Al e . il
(1) =3 =, 5 gereh cooked lﬁch 5 s to provide childre
(2) HH e afiEm (1)  Beti Bachao, Beti Padhao
(3)  Tfeer g (2)  Sarv Shiksha Abhiyan
(4 = e (3) Mahila Samakhya
(5) ST & A (4) Mid-day meal
VNATH/F1 (5) Not Attempted
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two
the
o be
1cts,;
~ally

.

a1 H ‘COVET’ F FRYHW’

8 fﬁ]ﬁm]%#{g@ o & HIDE? @ o0 foren
g B
g KOEF
(3] KLEF
Ko
g A e

ol

ﬁﬂfﬂﬁﬁﬁ?ﬂﬁﬁ?ﬂ?ﬁ@@%l =& FE
ﬁﬁmq&w%ﬁﬁwﬁ&mﬂﬁmﬁ
g 7 T & 7 R e e fem H &2

) SR

g T

B R

{4 TR

| TR e A e |

5, g, R T T R E Q) R FH

T, Heifeid © 2

1T

o = g

3 =

(% =

15 e e |

T‘é?ﬁmﬁ#wﬁmﬁwwﬁﬁmw
81 o 3 e 0 A L (o AT
5 e e R O AU IR |

f‘;‘ B T R

9 5 R = RO
2,5,1,3,6,4

G159 3,6

3,5,1,4,2,6

2,1,5,3,6, 4

TR T & = |

33.

34.

35.

36.

If in a certain code, ‘COVET’ 1s written as
FRYHW’ then how will ‘HIDE’ be written in the
same language ?

(1) KLEI

(2) KGEF
(3) KLEF
(4) KLGH

(5) Not Attempted

A man is facing North direction. He turns
135° in anticlock-wise direction, and then g0°
in the clock-wise direction. Which direction
is he facing now ?

(1) North-West

(2) West
(3) North-East
4) N orth

(5) Not Attempted

If ‘Q'is brother of son of R’s son, then how is
‘Q’ related to R ?

(1) Grandson

(2) Cousin
(3) Son
(4) Uncle

(5) Not Attempted

A set of English letters is given below in a

jumbled order. Select the combination of

numbers so that the letters arranged
accordingly will form a meaningful word.

Sr e T e o E
IR e W 5 R

([AR2 5 a6
(2) 4,1,5,2,3,6
3) 3,5,1,4,2,6
(4 2,1,5,3,6,4
(5) Not Attempted

TH @R P fou 7= | SPACE FOR ROUGH WORK
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Yeast is used in the production of :

. : 111 - T 20.
20. ﬁm’?’;‘aﬂ # § s Saed & i 1 ¥ ne oA
LR (2) Hydrochloric Acid
b (3) Sugar
2) ?@sﬁwﬁﬁm VAT
(8) (5) Not Attempted
(4) HiFEEE
(5) S TR <A W | 21. Deficiency of causes beri-berf
disease,
20 __Hﬁﬁ#mélﬁ—%ﬁ o HFfEﬁ?ﬁ%l (1) Vitamin C
(1) == c (2) Vitamin D
(2) Te=a D (3] Vitamin A
(3) TaarfoT A (4)  Vitamin Bl
(5) IR AEl < = |
22. Match electrical component given in
! m-lﬁﬁﬁﬂ‘&ﬁ@ﬁ f'ﬂfrﬁfu-nffﬁ:qm{ g:ll;nin- I-I:I with the symbol given in
T WA AT e ‘ Column - I Column - II
-1 HH - 11 .
: (A)  Eleetric cell (1) =
(A)  foe &= (L o W
B e R R il @ (B Switch in 'ON’ (1) @
position
) ﬁﬁ:ﬁ oRH, (M) (C)  Electric Bulb 111§
(D) =4 5 (V) —i— (D) Battery j (V) ——
el forse g Choose the correct option :
“j {Ai_{m: [B]“ﬂ]) [C]_EH': [Dl'{HI} [1] {A]_E]‘.ﬂ, ‘B]_“L “CJ_{HL (DJ'EHI}
(2} (A)-1V), (B)-(111), (C)-(1), (D)-(1) () (A)-V), (B)-(I1), ()1, (D)
(& (A1), (B)-(), (C)-(11L), (D)-(1V) X S
() (A)-(0), (B)-(1), (C)-(1), (D)-(1V) LG, i e
(5) I AE T AEA (4)  (A)-(I), (B)-1), (C)-(11), (D)-(IV)
(5) Not Attempted
23. TWERH A’ SR w1 wRw i s
1) T : 23. ﬁ?pat;"c;s :: 18 caused by :
T1E1
(24 st (2) | Protozoa
(3) iamy {3) Bacteria
(4) fommy @) Viris
(5) = ¥ 3 =y (5) Not Attempted
VNATH / F1 ¥ w7l 2 feTe 2aim1 / SPACE FOR ROUGH WORK Page 6
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27,

28,
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the
the
pel}

12

e

42,

o nﬁﬁaﬁqﬁtﬁﬁzﬁmm%aﬂfﬁ 41.
ﬁﬁ:lf)n . = % 5]
Iﬂg33fﬁ_ﬁ.ﬂﬁ4aﬁ?§ﬂmm%1ﬁ
w3
g 53
{:1.1 34
(4 43
) e el e e |
ﬁ%—|28—{37—H.5—x}‘,]=58%,?ﬁxEETtL'FI a9,
¥,

Q.

!;‘,]I 19

% 29

'.3] —29

[ =g

5 TR R S e |
. @ﬁaﬁaﬁfﬁﬂnaaaﬁﬁwméiiséﬁ%ﬂzzaﬁﬁﬁ%1 43.
irh‘aqmaaﬁqﬁsaawmgaﬁﬁiﬁﬂ%ﬁh
ﬁmﬂanmq(aﬁﬁﬁhﬂzzﬁ)évn:

) 5544

[2) 5306

(& 5712

[4) 5244

5) S & = |
meﬂaﬁﬂﬂﬁﬁﬁﬂﬁiﬁ?ﬁéfﬁﬁIZTﬂﬁﬁlﬂﬁaﬁ 44.
T B e 2

{1} 31_%

2
{2) Q}\'_!.L

2
& 8%

4
4 )'JJ.]_fJ_.-r'

A truck covers a distance of 550 metres in
1 minute whereas a bus covers a distance of
33 kms in 45 minutes. The ratio of the speed
of the truck to the speed of the bus is !

(I

@) BsS
(3) 3:4
(3] (L)
(5) NotAttempted

If45—[28 —{37 — (15— x)| =58, then the value
of xis:

(L) 19

2) 29

(3) —29

4 =19

(5) Not Attempted

The radius of a cylinder is 5 ¢m more than its
height. If the curved surface area of the
cylinder is 792 om?2, then the volume of
cylinder (in cm?) is :

(1) 5544
(2) 5306
(3) 5712
(4 5244
(5) Not Attempted

At what rate of simple interest will a sum of
money doubles itself in 12 years ?

(1) a 12%

(2) 9 %‘?’n

3) ® 1: %o _-

{4) 8 %%

(5) - Not Attempted

Page 11
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F (MAR) IR o e 2

What is the full form of (MAA' programue ?

A e 6.
bl -@ TR (9= ¥s e =) (1) Mother And Adolescent
() TR & s o e oS (T (2] Menstrual hygiene Among Adolescent
o ey girls
2 5 o 1 her’ - Affectior
(3) I %1 WYY W (HeY T ot (3) Mothers Absolute Affec l. 1
(%) Hi = 990 = (T Rl (4} Mother’s Absolute Attention
halrt T2 T A
h _ i TSHIFgE Y (5) Not Attempted
{5) L T S =
a 7.  Where is Jamia Islammia University situated ?
- ] BEA] s - ¥
7. SHA : Ehmraqaﬁ“a'-ma FEl HAIT 82 (1) Delhi
(g sesil (2]  Lucknow
(2) <TG (3) Aligarh
(3) NS (4) Bhopal
(4) W (5) NotAttempted
(5) S &l o = |
8. What is the radius of the earth 2
8. o = o €7 SR
(2) 2371 km
1 71w
B i (3) 6371km
(23 2371 FRHL @) 8371 km
(3) 6371 fepl (5) Not Attempted
(@) 8371 fE.
(5) SRR =ed | 9. {:‘s‘per Census 2011, the literacy rate in India
9. W2011#$E@"¢,maﬁmmﬂma: (1) 88.0
(1) 880 2) 83.0
124 83.0 (3) 73.0
9] S @ 780
14 8.0 (5) NotA
o]
(5) 9w e & A | tiempted
: 10. Who i
8] > ' m#%’) 10 18 the ayt ]
10, afzy vre @ giaErd s British I:ndial:ljt:klor of the book - ‘A History of
1 HEgHen i
| Z| HIE@ qr ) Lord Mounibait&n
2) ws T (2) Lored Clirzon
(3) v e (3)  James mil
t».‘ﬂ ﬂﬁﬂ%ﬁé"ﬁ {41 Warren Hastingg
VN Toqw 7ar | SPACE FO
ATH [ Fy Ead R ROUGH WoRK
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